Theorem 17a: (C = (Vz:T. (P z))) = (Vz: T. (C = (P z)))

F VI[T:Typel. V[P:T — P]. V[C:P]. ((C = (Vx:T. (P x))) = (Vx:T. (C = (P x))))
|

BY RepeatFor 3 ((UD THENA Auto))

|

[1]. T: Type
(2]. P: T > P
[3]. c: P

F (€ = (vx:T. (P x))) = (Vx:T. (C = (P x)))
|

BY (D O THENA Auto)

|

4. C = (Vx:T. (P x))

F vVx:T. (C = (P x))

|

BY (D O THENA Auto)

I

5. x: T

FC= (P x)

|

BY (D O THENA Auto)

I

6. C

F P x

|

BY D 4

I\
| 4. x: T

| 5. C

| FC

[

1 BY NthHyp 5

\

x: T

C

Vx:T. (P x)
P x

— T o o s

BY (SimpleInstHyp [x! 6. THENA Auto)
I

7. P x

P x

I

BY NthHyp 7

Extract:

Af,x,c. (f ¢ x)
where f : (C = (Vx:T. (P x)))
c:C



